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	Cycle time = Fixed time + Variable time
	4-1

	
	

	Total resistance = Grade resistance + Rolling resistance
	4-2


	Rolling resistance factor

	Rolling resistance factor ( lb/ton ) = 40 + ( 30  ×in. penetration )
Rolling resistance factor (  kg/t ) = 20 + ( 6  ×cm penetration )


	Grade resistance factor

	Grade resistance factor ( lb/ton ) = 20 × grade ( % )
Grade resistance factor ( kg/t ) = 10 × grade ( % )


	Grade resistance

	1st Equ.
	Grade resistance ( lb ) = Vehicle weight ( tons ) × Grade resistance factor ( lb/ton )
Grade resistance ( kg ) = Vehicle weight ( t ) × Grade resistance factor ( kg/t )

	2nd Equ.
	Grade resistance ( lb ) = Vehicle weight ( lb ) × Grade

Grade resistance ( kg ) = Vehicle weight ( kg ) × Grade


	Effective Grade 

	Effective grade (%) = Grade (%) + 
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Effective grade (%) = Grade (%) + 
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	Effective of Altitude

	[image: image3.emf]


	Effective Traction
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Time = Distance / Speed





Production = (Rated Blade Capacity / Cycle Time) × Job Efficiency





Tractors and Dozers





Scrapers


(Travel Time)





Cycle Time = Fixed Time + Dosing Time + Retuning Time
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Loaders





Production = (Bucket Volume / Cycle Time) × Job Efficiency





Cycle Time = Basic Time + Travel Time
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